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is an arc of the circle 
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 Find the area of the surface obtained by rotating this arc about the x-axis.

Note: The surface is a portion of a sphere with radius 2.

A: The surface area of the surface obtained by rotating a curve about the x-axis is given by
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 We simply need to compute the derivative of y to be able to find the surface area.  So, let’s do this.
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 Now, we plug this into the formula above to find the surface area.
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Since 
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 from the formula above.
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This is the solution.  The surface area obtained by rotating the arc about the x-axis is equal to 
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